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Straight lines Ex 23.17 Q1

Let ABCD be a parallelogram the equation of whose sides A8, 8C, CD and
DA are agxy, byyy, ©1=0, ax +by +C, =0, ax +byy +d; =0 and
axx + byy +d, = 0.

Letp, and p, be the distance between the pairs of parallel side of ABCD.
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P, = Distance between A8 and AD.
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P, = Distance between AD and 8C.
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- Area of parallelogram is

W Hence, proved.
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(i) Rhombus is 3 paralleagram with all side equal.
Pr=p;

Modifing the formula of area of parallelogram devided above.
The area of rhombus
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Straight lines Ex 23.17 Q2

The area of a parallelogram is
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Hence, proved. O
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Straight lines Ex 23.17 Q3 &
Let ABCD be a parallelogram as showm}ﬁ\he following figure,

Wwe observe that the following parallelogram is a rhombus, as distance
between opposite sides (48 and CD) and (AD and 8C) is equal = (n-n').

And in a Rhombus, diagnals are perpendicular to eah other,

Angle between the two diagnalsis 17/2.



